
PuttingtheProduct rule to work

Recall :
# permutations on n objects ........!*

whi ?
Think of task for generating one permutation

#ways
-

1 choose an object for 1st position --------

R

2. choose another object for 2nd position...... n - 1

·
th

K . choose another object for k postion...... n- k + 1

%

a . choose another object for nth position...... 1
-

n(n- 1)(n-2) ... 1 = n !
We can't permute choices in phases and get same outcome
=> No overcounting











* Each of the following two task generates only
parts of total possible outcomes

1
.
Choose a black square ...... 1

.
Choose a white square ......

2
. choose diff . black square ... (-) 2 . choose diff . white squaree.... (-)

-

) ( -1)

Adjust for overcounting ↑black white
&·..

E# (-1) Disjoint -)

St
Addition rule : E(-1) ~














